WS 4: Drawing Lewis Structures Answer Keyi

Part 1: Lewis structures for molecules that obey the octet rule.
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PART 2: MOLECULES THAT VIOLATE THE OCTET RULE
Lewis Structure
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PART 3: LEWIS STRUCTURES FOR IONS
Lewis Structure
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Lewis Structure
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PART 4: RESONANCE STRUCTURES AND FORMAL CHARGE.

Lewis, resonance, and formal charge

There are three possible structures for carbon dioxide, but only one makes sense. Draw the three
structures with the formal charges and explain why the one you chose is the best.
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NO There are two skeletons for this arrangement. Use formal charge to determine the best central atom. [try
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comparing the two structures that have the same bonding type. Might I suggest, 2 double bonds] The
N—J—0O correct central atom isomer has three resonance structures, two of which are the most dominant. What
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Lewis, resonance, and formal charge
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There are three structures that can be drawn for this molecular formula, each has a different central
atom. Use formal charge to determine the best structure. Each structure has a double bond to satisfy
the octet rule. [Hint: one stracture has an NO double bond, one has an ON double bond, and one has a
NCI double bond] no resonance here! + = -~
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CLSO (sulfur in the center, why? Draw a structure with O in the center, or Cl in the center to find out]) [SO double bond,
vs OS double bond] ] [
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Lewis, resonance, and formal charge
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" Brown and LeMay Chapter 8
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